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1. Use the standard algorithm to solve the following subtraction problems.
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a. 8512 b. 1%042 ¢ Tglo72
~ 2,501 - 4,122 ~ 1,561
boll 13920 6511
)

Draw a tape diagram to represent the following problem. Use numbers to solve. Write your answer as a
statement. Check your answer.

2. What number must be added to 1,575 to result in a sum of 8,6257?
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T,050 is Hhe missing number,
Lesson 13: Use place value understanding to decompose to smaller units once
EUREKA using the standard subtraction algorithm, and apply the algorithm to 199

MATH"‘ solve word problems using tape diagrams.
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